shgat £) 4%} WA Bugr

s (6—rz—y)0<x<22<y<4

otherwise

g(z) :/oo flay)dy = (z,y)dy
. )
_/4i-(6— — )iy = oy—ay—LIE = 32
= /.3 r—yldy = Zlby—zy—-3ly =~

. . 3_x,0<a:<2
sogla) =

0 , otherwise

o) = [ fewpte = [ rep

YS! 1 2’ 2
—/‘Og-(G T y)dx—8[6:(: 5 yac]o— 1

4

5~y

—= . 2<y<4
.'_ h(y) = { y

0 otherwise



(2) BE(X)t E(Y)S Fsket (7 2.5%)

E(X) = /OO T e g(x)dx

— 00

_]_ 2 2 _1 X
_4/0(3“@ whdr = 5=l

1 o, 15y 4
= 2(5y y)dy—4[2 3]2
17



(3) Var(X)t Var(Y)S Fske}. (7 2.5%4)

Var(X) = EX*— BE(X)?

= i/j(?,x?—x?’)dx—(%)z - 1—(%)

11
X) =—
Var(X) 36

Var(Y) = EY*— E(Y)?

11

36



(4) Cov(X,Y)S Fsket (2.5 &)

Cov(X,Y) = E(X,Y) — E(X)E(Y)

o212
=3 ) O(ny yz” —y'x)dzdy 515

_ 1_(§) __ 1
3 \36) 36

(5) FHASE okt (2.5 A)
1
Cov(X,Y) 36 _ 1

XY VarX Vary \/g\/g o
36 36




